24.

YemeuLIena @@ Gpmfledlen sLbs e eu(bLrhiseflenm Q[,GMT@ kD
BOTUBISET 2ELWD. . ,

<@ . :
1996 31,000 :
1997 25,000

1998 . 30,000

1999 34,000

AsmPemd LWETLESSIULL  pFe e 2,00,0000 - y@tb.
@eveumawnar  Qgmfeller aHILTTESLL L  eupssLTRT 26T
SHLLbl? s56I50 @D, Wana @eamukisefer 2 QJ@I_ Gla;rrm@)ga)
..gp{u;u UenLufled pHGlLiwim WdllienLise asrsmasa‘]@& :

Explain various methods of alteration of share capital.

LG 1psed rppsdler LCeum (penpaamaT 6l eméEs.
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10.

11.

12.

" Maximum : 75 marks
SECTION A — (10 x 2 =20 mtarks)
Answer any TEN questions.

What are the types of shares?
Lk aile aUmSEET. Wireneu?

Define preference share.
Wengnfleniols LkiE — auerellwssamLd &(5s.

What - are the ratlos dealt 1n calculatmg proﬁt prior to
incorporation?

- ufelpE WhHesw @arub ascuvra;e‘;]@ma;uﬁ]eu a;rremuu@m Qﬁ]é]g,mjasm

Wreneu ?

What do you mean by acquisition of business?
Ggmfer Qamerpsed uhHl Helli Sileug wrg?

What are fixed assets?

Benevé Qenggiésen cremuena Wimeneu?
f \

What is managerial remuneration?

Guoememi ealwitb ereig) e ?

B!

Mention the need for valuing goodwill. -
BHAuwit semsdHeugen Comeulamans GHLILAGE.

» How do you ‘find the fair value of a share?

ereuauTy gp(m Litidlen GpirénLo HLienLis saméd HeSi?

Why does a company goes for capital reduction?

TEDETS G HpIowd (pFD Gl Celiflpg?

Give the rules regarding capital reduction. -
YPsD G@PLIY FbUBSLILLL eNfEmens sms.

What is authorised capital? i

SinEafgEalul L Wpee erarg) eremear?

What are super profits?

Blena QerukiseT eraruemel Wirena?

B-on (©8) - Crpovase 9«%“’“% !

(q
]



13.

14.

15.

SECTION B — (5 x 5 = 25 marks)

=Gs Guré Aol 31.12.2005 ey Gaissd wennude 5. 15,000
wliyerar 6 s56ls sLan LHrEs@er Qerusms Qsmam® B L g
B g@safler WpEHGHILIEHT eT(9Sis.

Calculate remuneration of a company's M.D at 5% of the net
profits, after charging such commission. The net -profit is
Rs.38,786. The following 1tems are considered for arrwmg at the
given net profit. ' :

sugey SHUL 5.

_ uHD @iy -
Answer any FIVE questions. glbuiaLd 18,500 Guwanairenio @mt‘ﬁ@mm'—lﬂ(@!ﬁ@ 15,700
’ . . ng)m &6
A company issued 20,000 shargs of Rs. 10 each at par. The issue ARl 6,000 D@pEELLCL Lk 5o 250,000
was underwritten by XY firm for maximum commission (5. 100 Ligser)
permitted by law. The public applied for and received 16,000 Qg Qswayser 8,950  eipueen - 3.25,000
shares. Calculate the commission payable to the underwriter. .
Ny 3 2, 400
@@ Hlmwd 20,000 Lkigser 5. 10 eﬁg,us (y)G;LDQUL(ﬂGO Qmaﬂuﬂ]l_l_gﬂ eSlembLpd . 3,800
- BLLEBT S@ndEsiiul L iflsul ss srdpE XY salLmarenLowimed b 5QS TS 10,500
- Heu@euafii® @uUmP QebwiulLg. 16,000 ukiEsErsE Curg slaiTanEaT 38,700
wéaar  ellamanbggl  Quppent.  @UUDISWTETHESE Cewss sataun_i 1,80,500
Ceuatinig Wi SFendd: SenTéElLeLb. J=E P — 17,100
- On 31-12:2004, a company redeemed Rs. 10,000, 6 % debentures i 34,700
out of capital by drawing a lot. Similarly, on 31-12-2005, the CUITE &L GEeT 3,200
‘company redeemed its 15,000, 6% debentures out of profits by D@L ua Hgieeu 5,000
drawing a lot. Pass journal entries in the books of the Company. Qsn_ésé s768 MmUY 50,000
31.12.2004 ety @@ Hpwd G@EsD wepwdd @ 10,000 6,60,270 6,60,270
wéliarer 6 5635 sLa LSHTRISMmET @mgmgmgés Qarerr(® BLL_gj. YGereumd  sfslLdamers Qaig Gewemt. 31.12.2009 ey

WPy eImLhS ety DETaT QU B L Sflémsmus sumflése.

(<=1) g;GTQJWLréJSGﬂG&[ Bgren Ceioreand 15 sgellflgid p@n

(=) @ srsdmiy Ll - 2,00,000 @D

(@) <iefsadsafdr Srar Csiiorand 10 s5elfsn @@L,

(rF)  euemiomen eulfl giGae ep. 8,000 Qe Gouemr(H1Lb.

| 23. The annual net profit of a firm during the last four years are as

(@) Tax provision Rs 39,000. , follows :
(b) M.D's remuneration paid Rs. 12,000. Year Rs.

: . 1996 31,000
(¢) Formation expenses written off Rs. 4,000.

1997 25,000

(d) Director's fees Rs. 2,500. 1998 30,000
(e) Prov1s1on for doubtful debts Rs. 1,200. 11999 34,000

(® Depreciation written off Rs. 12,880-, The capital employed by the firm is Rs. 2,00,000. The normal

rate of return expected in this type of business is 12%. Calculate

. S the value of goodwill on the basis of 2 years purchase of super
(h) Ex-gratia payment to employee (without liability) Rs..2,000. profits.

(g) Depreciation allowable as per income tax rules Rs. 12,000.
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22. The following are the balances extracted from the ledger of

ABC Ltd. as on 31-12-2009.

Debit Balances - Rs. Credit Balances Rs.
Purchases 2,00,000 Discount recei\_réd 3,150
Wages I i . 70,000 Profit and Loss A/c . 6,220
Discount allowed 4,200 Creditors 35,200
Insurance (upto 31.03.2010) 6,720 Reserves 25,000
Salaries . 18,500 Loan from M.D 15,700
'Rent - 6,000 Called-up share capital 2,50,000

\ (Rs. 100 shares)
| General expenses 8,950 Sales 3,25,000
Printing 2,400
Advertisements 3,800
Bonus 10,500
Debtors : 38,700
Plant 1,80,500
Furniture : I 17,100
Bank 34,700
Bad debts -3,200
Call-in-arrears " 5,000
oyt als 50,000
6,60,270

6,60,270

’Prepare- a statement of profit or loss for the year ended
31.12.2009 after making the following adjustments :

(a) Depreciate plant at 15%

(b) Closing stock value is Rs. 2,00,000
(¢) Depreciate furniture at 10% -
(d) Income tax provision of Rs. 8,000 is to be made. °

Qereumueneu ABC el e Gu@u@a;aﬂa) @@E@ 31.12.2009 ey
TH&SLILLL @BULSETTGLD.

uHo G e ey @@uu , .
QareTapse 2,00,000 sgeri@puy. Aupps) . 3,150
70,000 QeoruplLssamsE . 6,220
sen@ErUn eflsss . 4,200 ' s_afpCani - 35,200
sniuSE (31.03.2010 aumwy) 6,720, smiser 25,000
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16.

17..

@ BiniodSler Coameimenio @) W@ mee sl By Glrusde

5 gzeipd (SigsnE sWlsstiulL M) mausss smrsdoyb. Bl

@emuid 5. 38,786 <i@ib. QamRessIut L | Blan @b ser ()9 &sL

Sletmau b 2 (HLiLIG seT Sarrédle) Qlamereriilir L :

(=1) @rﬂ REIGGSD . 39,000.

() Cuararamo QuisEammss spisdu eafluib ep. 12,000.

(®) - Qsrsss Qsewaysar a;@](e_'r,@’g,@g,t,luﬁ_l_mm e5. 4,000.

(M)  QuaEpT s e . 2,500.

() pu&sLar @gs@sD 5. 1,200.

(ear) Gguwiomend s 050sps L L g) 5. 12,880.

(er) auoner  aufl  aflfsaflenig. é{@]m@a;a;uul_l_ Gg,u_mrrarru)
. 12,000.

(er) an@mnaﬂa;@a; G]a;rr@g,;_s per@Qaren  (Qummiy  Brisors)
€. 2,000.

Raman holds 5,000 equity shares in a company the capital of
which is 30,000 shares of Rs. 1 each. It i is ascertained that the
normal profit of the company is Rs. 5,000 and the normal rate of
return for the type of business carried out by the company is
18%. Raman requests you to value his shares under yleld value

~ method.

30,000 ukiEser @ 1 ofsb Qamani g HpwsHa grodr 5,000
sMawls UkiGsmar @euGSHBSTT. <oibblnnasen QULPSSLOMET (@)e0TLILD
¢5: 5,000 eremmid B Hmiom GQewud QamAeller cussorear @em
aildlsd 18 sgeiph eranmd samLBlwliuilLg). OGN SeEnInL Ul
LI @ & arflear Lng‘,]umu QJIEQIBJGSGI) gl @mmuﬁ]@o srsmar gk
Geugmr(Rdlmmir.

The following is the balance sheet of Lucky Ltd. as on
31-12- 2005 :

Liabilities Rs. Assets " Rs.

+2,00,000 equity shares of 20,00,000 Goodwill 5,00,000

Rs. 10 each fully paid up ‘
Creditors o 15,00,000 Plant 17,00,000

Stock 8,00,000

Debtors o 3,00,000

, Cash 10,000
: Profit and Loss A/c * 1,90,000.
35,00,000 : 35,00,000
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The company decided to reduce the paid up capital by Rs. 5 per
share. Goodwill and Profit & Loss a/c (debit balance) are to be
written off completely. Plant is to be 'written down by
Rs. 3,10,000. Give journal entries for the given scheme of
reconstruction. “ :

wsd L. Ppwsdar 31.12.2005 wineapu GaluBens @Aoy
(Getreu(mLommy :

Qurytiiéaer ‘ . Qg g1656T 5.
W Waugb QsgugsiucL em. 10 BOQuUuT 5,00,000
sigqpeer 2,00,000 sngmyems uigasar  20,00,000
SLebCamT ~ 15,00,000 sgereun_migar - 17,00,000
#7658 (mLILy 8,00,000
sL_ameflsar 3,00,000
Qyr&sLD 10,000

18.

19.

20.

@amupliés/s - 1,90,000

35,00,000 .35,00,000
uBépE m. 5 deissliLlL wagaiorss Gmpés Hpwbd Qeiiss.
BOGELWT LHYL Qery FLLE &/@ (Ubp @BUY) WQEISILTES
& 050spsiuL. Geuam(Hib. sareurL_miger ¢m. 3,10,000 as'gé]é;&uul_
Cauar(®bd. Qar@ésiur Garar wys LamwlGnsrer WEHGH a6
S(HS.
What are the types of underwriting?

@UUMISIUGeT cUMSEET WTeneu?

How do you classify debentures?

GTeUeUTm SL6tT LiGStisamer auanasliLi(HSgeli?
SECTION C — (3 x 10 = 30 marks)
Answer any THREE qu_estions.

ABC Ltd. issued 1,000, 8% Debentures of Rs. 100 each. Give
journal entries in the books of the company, in the following
cases :

(a) Issued at par, redeemable at par.

(b) Issued at 5 % discount, redeemable at par.
(c) Issued at 10 % premium, redeemable at par.
(d) Issued at par, redeemable at 10 % premium.

(e) Issued at 5% discount, redeemable at 10 % premium.
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21.

ABC &l 1,000 8 sszeis siean usdymsamer e 100 Qﬁg!_b
GeuafiiL gl Geareumo Hlanavseafler fimiw g@selle) pebGHIlLsmars
5[5 ‘
(=1) wswdibd Qeueflul LUl @ weawd G Bslul L meé
() 5 e&sals garepuyuie  GQeueflLLLEE pawdindd

S aslul Lma

(@) 10  sgeis evanngdad Q@Jéﬂuﬁh_uux'_@\ (EANE N

B sl Lmeo

(F) pswdube GeefllQiin @ 10  &z6is  pananogded
BrsliulLmed

(2) 5 &zeisp pemeruiguiler Qauaflul L@ 10 s56is Wenanosde
B LmeD.

A company has 10,000, 9% redeemable preference shares of

Rs. 100 each fully paid. The company decides to redeem the
shares on 31-12-2007 at a premium of 10 %. The company makes

the following 1ssues :
(@) 6,000 equity shares of Rs. 100 each at a premium of 10%.
(b) 4,000, 8% debentures of Rs. 100 each.

The issue was fully subscribed and the allotments were made.
The redemption was duly carried out. The company has
sufficient profits. Give necessary journal entries in the books of
the company.
@ Hmow a. 100 efgb apwpaib QeaigsiiulL 10,000, 9 ss6Ss sLan
usSlrhsmens Csmamqppeg. 31.12.2007 weam 10 sseis
paangsla Lrigsemar BLs Hpiob iy ey Gewisg). Hmiwb earamn
QeuafluiRaemens Qasg.
(1) 6,000 srgmyants Lkigsar en. 100 asibd (10 #56is (pavarogdlen)
(é;-b) 4,000, 8 g36is aLar LgSrhiser ¢p. 100 aigbd
Qeuaflu® Weaugihb Fgnmsdsraetiu’® e&&E0 Geliw il 1 e
Bly @espwunrss Qewliul L g. ° Hmpwbd Gungiorer  @erud
Gameimg FHEsl. Fni ahseilen Coameuwner (PsHE@GNLILISE S(ma.
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